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LEVEL 2 

 

Estimated time needed: 35 minutes. 

 

• Exercise 1   
       Listen and circle the correct answer. 

 

1. Why can’t the escort commander take the route that was originally planned? 

 a) because of insurgents  b) because of bad weather 

 

2. What time will the convoy arrive in Trevisham? 

 a) 8.000 pm    b) 6.30 p.m. 

 

3. Why does the guard say to take care on the road between Bouvet and Denom? 

 a) because there’s snow  b) because of insurgents 

 

• Exercise 2   

      Listen and write True or False. 

 

4. The convoy is travelling to Denom. 
. . . 

 

5. The guard tells the escort commander to turn back take the road to 

Morak. . . . 

 

 

6. The guard says that the road to Denom is closed because of snow. 
. . . 

 

 

7. The escort commander threatens to report the guard. 
. . . 

 

8. In the end, the escort commander has to turn back. . . . 
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KEY TO LISTENING  COMPREHENSION 

Exercise 1 

1 B 

2 B 

3 B 

 

Exercise 2 

4. T 

5. T 

6. F 

7. T 

8. F

 


